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1. Charlie has 25 marbles and Jane has 13 marbles.  What percent of the total does Jane have?



A. 34.2%



B. 33.2%



C. 36.2%



D. 37.2%

2. Sara is a used car salesperson.  She earned a commission of $2,370 on a recent sale.  If the commission rate is 7.5%, what was the selling price?



A. $30,600



B. $32,000



C. $31,600



D. $33,000

3. What is eighteen and one hundred eighty over four hundred twenty written as a fraction reduced to its lowest terms?



A. 18 180/420



B. 18 3/7



C. 18 9/21



D. 18 45/105

4. Shawn earned $330 weekly and received a 4.2% pay increase.  His new weekly salary is:



A. $382.54



B. $346.83



C. $353.83



D. $343.86

5. What is 32/55 written as a decimal rounded to the nearest hundredth?



A. .57



B. .58



C. .59



D. .54

6. Tara is a cook.  Her recipe calls for 1 1/2 teaspoons of nutmeg and 3 3/4 teaspoons of cinnamon.  She needs to quadruple the recipe.  How much cinnamon will she need?



A. 12 teaspoons



B. 11 teaspoons



C. 15 teaspoons



D. 10 1/2 teaspoons

7. Add the following: .327 + .74 +. 2069 + 8.4268 =



A. 9.7217



B. 7.9009



C. 8.7009



D. 9.7007

8. What is the maturity date for a 120-day note dated April 2, 2002?



A. August 1, 2003



B. August 1, 2002



C. August 2, 2002



D. August 3, 2002

9. What is the largest number: 2/3; 16/18; 86%; 52%; 9/11; or 160/190?



A. 16/18



B. 86%



C. 160/190



D. 9/11

10. A box of textbooks weighs 5 lb. 3 oz.  Approximately, how much does 175 boxes of textbooks weigh?



A. 1 ton



B. 9/20 ton



C. 3/4 ton



D. 1/2 ton

11. Multiply: 382.284 x 4/5 =



A. 305.827



B. 305



C. 305.8



D. 305.83

12. Jason is purchasing 4 new CD's at $18.99 each.  Sales tax is 7.25%.  How much does he owe the clerk?



A. $80.47



B. $81.47



C. $79.47



D. $82.47

13. Convert 12 7/8 to a decimal.



A. 12.78



B. 12.9



C. 12.88



D. 12.875

14. An artist can create 2 sculptures, 4 paintings, and 5 caricatures in one week.  At this rate, how many paintings will he do in 15 weeks?



A. 15



B. 30



C. 60



D. 75

15. As an employee of XYZ company, you receive an invoice with terms of 2/10, n/60 date 1/27/02.  The total amount of the invoice is $574.  If you pay the invoice on March 28, 2002, how much is the bill?



A. $574



B. $566.52



C. $564.52



D. $565.52

16. Your electric bills for the last 6 months are July = $72.84, August = $56.52, September = $65.23, October = $74.72, November = $80.35, and December = $86.25.  What is the average of these electric bills?



A. $74.68



B. $76.25



C. $73.56



D. $72.65

17. 4,375,472 rounded to the nearest ten thousand is:



A. 4,380,000



B. 4,400,000



C. 4,375,000



D. 4,000,000

18. You are a salesman in a lumberyard.  A customer comes in and wants to build a shed.  You decide the order of wood needed to build this shed will be 557 feet of 2" x 4"s.  The price of one 2" x 4" is $9.75 for an 8 foot piece.  How much will the wood cost?



A. $682.50



B. $672.75



C. $628.50



D. $684.50

19. 15,278,084 written as words is:

A. Fifteen million, two hundred seventy eight thousand, eighty four hundred

B. Fifteen million, two hundred seventy eight thousand, eighty-four

C. Fifteen billion, two hundred seventy eight million, eighty four hundred

D. None of the above

20. You and a friend plan an automobile trip of 1,260 miles.  If you leave on Friday at 9:00 am and travel with appropriate breaks and average 45 mph, what time should you reach your destination assuming no time changes?



A. Sunday, 1:00 am



B. Sunday, 3:00 am



C. Sunday, 5:00 am



D. Sunday, 7:00 am

21. The decimal equivalent of twenty four and one-quarter percent is:



A. 24.25



B. 0.24025



C. 0.2425



D. None of the above

22. The total sales for LBA Industries are $9,452,384 worldwide.  Foreign sales account for 27% of the total. What is the dollar amount of sales in the United States?



A. $6,900,241.60



B. $6,900,240.00



C. $7,000,000.00



D. $6,900,240.30

23. Divide 3/10 by 5/8:



A. 3/16



B. 12/25



C. 24/50



D. 15/80

24. David works 64 hours in one week.  His salary is $13.46 an hour.  He gets time and a half for overtime after 40 hours.  What is his salary for the week?



A. $1023.00



B. $538.40



C. $1022.96



D. $484.56

25. You make floppy drives for computers.  Each drive sells for $8.92.  If you sell all of the drives you make, how many drives do you have to sell to make your total sales exceed $75,000?



A. 8408



B. 8407



C. 8406



D. 8409

26. An interest-bearing note at 8% has a principal amount of $15,575.  The note and the interest are paid in nine months.  What amount would the check be for?



A. $16,225.50



B. $16,500.50



C. $16,505.50



D. $16,509.50

27. To produce one widget, labor and materials costs are $4.78.  You sell your widgets for $8.00.  How many widgets would you have to sell to make $20,000 profit?



A. 6209



B. 6210



C. 6211



D. 6212

28. The operating costs of the Human Resources Department at ABC, Inc. were $654,973.  This represents 46% of the operating costs for the entire company.  What are the total operating costs for ABC, Inc.?



A. $1,423,854.30



B. $1,423,854



C. $1,400,000



D. $1,423,000

29. Estimate 262 times 383 to the nearest hundred:



A. 100,400



B. 100,200



C. 100,300



D. 100,500

30. Complete the equivalent fraction (Example: 1/4 = 6/24): 7/19 = _____/95



A. 42



B. 14



C. 28



D. 35

31. Write this number as a percent, .624:



A. 624%



B. 62.4%



C. 6.24%



D. .624%

32. Write the following numbers as an improper fraction: 17 7/8



A. 143/8



B. 24/8



C. 32/8



D. 119/8

33. Jessica wants to purchase an $80,000 home.  She needs a 12% down payment.  What would her down payment be?



A. $10,000



B. $8,000



C. $12,000



D. $9,600

34. Divide 5 1/7 by 6 2/5:



A. 45/55



B. 44/56



C. 45/54



D. 45/56

35. Multiply 5 1/7 by 6 2/5:



A. 32 32/35



B. 32 34/35



C. 34 32/35



D. 33 32/35

36. A realtor earns 5% commission on all sales.  For monthly sales over $50,000, she gets a $400 bonus.  If her monthly sales are $56,492, what is her gross pay?



A. $3,225



B. $3,224.60



C. $3,224



D. $3,260.40

37. Calculate: $15,827 times 37%, then that answer times .35:



A. $2069.40



B. $2054.60



C. $2049.60



D. $2050.60

38. Becca owns Pizza Palace.  She earns 35% gross profit on all sales.  Her fixed costs are $800.  If she sells each pizza at $11.75, how many pizzas must she sell to reach the breakeven point?



A. 193



B. 194



C. 195



D. 196

39. Rachelle borrows $8,950 with a 6.25% interest rate.  She pays the loan off in one check after nine months.  What is the interest cost?



A. $419.53



B. $465.47



C. $467.53



D. $468.53

40. A baseball player gets a hit one out of every four at bats.  His batting average is:



A. .400



B. .250



C. 2.5



D. None of the above

41. Karen's monthly cell phone bill was $49.99.  Her cell phone provider lowered the monthly rate by 4.25%.  What would Karen's new monthly charge be?



A. $47.87



B. $47.77



C. $47.67



D. $21.12

42. Crystal borrowed $19,995 for a new car.  At 6.5% simple interest on the balance, calculate her first month's interest.



A. $421.77



B. $427.66



C. $108.31



D. $1,299.68

43. Reduce the following fraction to the lowest terms: 294/8



A. 36 1/4



B. 35 3/4



C. 34 3/4



D. 36 3/4

44. Michelle purchases a dress for $58.99 and shoes for $49.99.  She gets a 33% discount on the dress and a 20% discount on the shoes.  The sales tax is 5.75%.  If she gives the clerk a $100 bill, what would be her change?



A. $16.92



B. $22.92



C. $12.92



D. $15.92

45. Solve 8 5/8 divided by 6 3/8.



A. 1 6/17



B. 1 1/8



C. 1 3/8



D. 1 5/8

46. 4 1/10 percent is equal to:



A. 4.1



B. 0.41



C. 0.041



D. 0.0041

47. Your phone line is used for Internet access 0.5% each 24-hour day.  To the nearest minute, how long are you on the Internet?



A. 7



B. 8



C. 72



D. 70

48. Sixteen million, four hundred seventy four thousand, thirty-one expressed as a number is:



A. 16,474,310



B. 16,474,000,031



C. 16,474,031



D. None of the above

49. Your computer has 23 software programs on it and Mike's has 8 on it.  What percent of the total does Mike's computer have?



A. 24.9%



B. 26.4%



C. 27.2%



D. 25.8%

50. 62,184.8761 rounded to the nearest tenth is:



A. 62,184.88



B. 62,184



C. 62,184.89



D. 62,184.9

